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General Instructions:

(i) All questions are compulsory.

(i) The question paper consists of 34 questions divided into four sections A, B, C and D. Section-A comprises of 8
questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each; Section-C comprises of 10 questions of 3
marks each and Section-D comprises of 10 questions of 4 marks each.

(iily Question numbers 1 to 8 in Section-A are multiple choice questions where you are required to select one correct option
out of the given four. : .

(iv) There is no overall choice.

(v) Use of calculator is not permitted.

SECTION-A / @vs-31

Question numbers 1 to 8 carry one mark each. For each question, four alternative choices have been provided of
which only one is correct. You have to select the correct choice.

T x—y=amiEm E !
Ay 02 ® (20 <@ “o
Oy @1
Solution of x—2y=4is:
(A) (0,2 B (20 @ (40
© @Oy
2 @-amuwfigmmm@wfndmd o !
(A) x=a (B) y=—a
)  y=x D) x+y=0
The point of the form (a, —a) always lies on the line :
(A) x=a (B) y=-—a

(<) y=x D) =x+y=0



A ABCH! 1991 7 & o1t 931% BC =5 e, ZB=45" 3R AB-AC=6cm & T T
FEF Uy T ¥,

(A) B ZB=45 TR

() BC=5cmulfan

Q) AC e A ABC WAL

O T QT oft T

To Construct A ABC in which BC =5 cm, /B=45° and AB—~ AC=6 ecm. Then first
step of construction is :

(A) AtB, draw /B=45°

{B) Draw BC=5cm

(€} Join AC to get the required triangle ABC.

(D) none of these

T YT & < D1 60° 3R 70° § 97 574 ST IVl H SUM 8: 151 T
Y IV AT B

(A)  80°150° (B)  90°, 140°

(C)  100° 130° (D) 110° 120°

Two angles of quadrilateral are 60° and 70° and other two angles are in
the ratio
8 : 15 then the remaining two angles are :

(A)  80°150° (B)  90°, 140°

(©)  100° 130° (D)  110° 120°

T 9T F MUR F ATF 154 cm2?d 91 5 cm &1 591 SR ST 811
[A} 308 cm3 (B) 770 cm®

[ 525 cm3 (D) 600 cm3

Base area of a cylinder is 154 cm? and its height is 5 cm. Its volume is equal
fo:

(A) 308 cm? (B) 770 cm?
IC) 525 cm3 (D) 600 cm?
(C) 525cm? (D) 600 cm®

UF N F T 10 mx 10 mx5m ) T 36l W@ 9 T I A @a w
(&) 15m (B) 16 m (C) 10m @) 12m
The length of the longest pole that can be put in a room of dimensions
ImXI0mX5mis:

(A) 15m (B) 16 m {C) 10m (D) 12m



In an experiment, a coin is tossed 500 times. If head turns up 280 times,
then the probability of getting a tail is

14 11
(a) =5 (B) 55
13 19
(C) > D) >
T WEIT ¥ U fqass &1 500 9 S0 <9 81 9ie {99 280 <1 3461 € |1
Y2 31H I Wifdehar gr ;-
14 11
(A) > (B} =
13 19
(o) > D) =

The mean of multiples of 3in 3 to 10 is

A 5 (B) 65
© 7 D 6

39 10T% W 3% NI HIAMA ¢
Aa) 5 (B) 65
© 7 D 6

SECTION-B / @vs-q

Question numbers 9 to 14 carry two marks each.

7fg g IS PORS W £SPQ = 70° 3 /SQR = 50°8, & x

R y 1 W FE FT
S R
x
¥
70°
P Q
In parallelogram PQRS, if ZS5PQ = 70°and ZSQR = 50°, then
find the value of x and v.
S R
x
L
70° %

P Q
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T A g9 wgds ABCD e T €1 x, y 3Nz WA 91 FifSQ)
D P C

A B
In the figure ABCD is a parallelogram. Find the value of x, y and
z.

D P C

3.5 cm 5 e et =1 e ofi Hqof o3 emwe i wifg
Find the volume and the total surface area of a hemisphere of
radius 3.5 cm.

The median of observations 11, 12, 14, 18, x + 2, x+4, 30, 32, 35 and 41
arranged in ascending order is 24. Find x.
eI 11,12, 14, 18, x+2, x+4, 30,32, 35 1 41, 5 fF W FAH 8, &1

TIeqeh 24 8 | x 1 HF Fd Hifag |

The class marks of a distribution are 37, 42, 47, 52, 57. Determine the
cdlass size and the class limits of the last class mark.
U 924 & Fi-Fa% 37, 42, 47, 52, 57 € | anfigdt =vi-fawg @1 avi-am i ol

T 9 B

The class marks of a frequency distribution are 104, 114, 124, 134, 144, 154, 164 Find the
class size and class intervals.
U qRFERAl deT % I fagd 104, 114, 124, 134, 144, 154, 164 €, &1 5z o1 &7 5w gy &

FHAUA T iy |



In an experiment, a coin is tossed 500 times. If head turns up 280 times,
then the probability of getting a tail is

14 11
(A) > (B) >5

13 19
© > D) Y
e WANT § U FaeR H1 500 91 I91CN 9 €1 3 fod 280 IR SR ¥ A
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14 11
(A) > (B} —

13 19
() > D) Pr

The mean of multiples of 3in 3 to 10is :

(A) 5 (B) 65
Q 7 D) 6

39 107% 0 3 F P H A ¢
A 5 (B) 65
© 7 D 6

SECTION-B / @vs-q

Question numbers 9 to 14 carry two marks each.

Ife g SgdT PQRS H ZSPQ = 70° 3R /SQR = 50° 8, @t x

Ry F A T KIS
S R
X
y
70° 3
P Q
In parallelogram PORS, if Z5PQ = 70°and ZSQR = 50° then
find the value of x and y.
S R
X
Y
70° 0

P Q
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SECTION-C / @vs-H

Question numbers 15 to 24 carry three marks each.

fiig (1, 1) ¥ T 9 99 Yas g fafaa)
Wirite three linear equations which pass through the : (1, 1).

Iqfe tfia FHIHT 7x + 8y =2k FT T (-2, 3) &, A k F1 WA 7@
Hifey 3R o7a: <1 T @ S

Find the value of k, if (—2, 3) is a solution of the linear equation
7x + 8y = 2k and hence find two solutions.

feu mu fax § ABCD @& wail wg € o AD wwsm-fg T &1 ARk

ar(ABCT) =45 cm™ 8!, &' ar(ACD} % =i |
A B

D‘
In the given figure, ABCD is a parallelogram and T is the midpoint of AD.

if ar(ﬁBCI’) =45 cnII;, find ar{ACD)

T

s 9g4s ABCD fami AB [|CD € % ¥, &% O &t g9 W fom €
fog wifsm fF AD=BC®|

The vertices of a trapezium ABCD lie on a circle with centre O such that
AB|| CD. Prove that AD =BC.

fag Fifae i © g9 & srmia o1 woaqs & ot & §
Prove that the rhombus, inscribed in a circle, is a square.
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fau e fam & pORs iR PQLM THiat WM ¥ 91 ar(PQRS) =120 cm® ¥
T AP |
_5?{ ‘ SM(PQLII“VI) R.(ﬁ) ar(POS) (i) ar(QLM)

P Q
In the given figure PQRS and PQLM are parallelogram and
ar (PQRS) =120 e’
Find :
)  ar(PQLM) (i)  ar(PQS) (i)  ar(QLM)
M_5 L R

q viF &1 At Brenell F squa 401 %1 g O % s o vl Wy
¥ g &1 SHi % o5 TS §Fel § 9 91 wifag |

There are two cones. The ratio of their radii are 4 : 1. Also the slant
height of the second cone is twice that of the former. Find the
relationship between their curved surface areas.

Th OF B G 44 em ¥ 3T 70T T8 S9E 12 em &, < VF HOTE
IS5 & A Hifag |

Circumference of the base of a cone is 44 cm. If slant height is 12 cm,
then find curved surface area of the cone.
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1500 families with 2 children were selected randomly and the following data
was
recorded :

No. of girls 0 1 2
No. of families | 211 | 814 | 475
If a family is chosen at random, find the probability that it has
(i) at most one girl
{ii) at least one girl
2 T AN 500 WRERT =1 we fm o Friforfn aifedferd fipg g
wefeai st e | o 1 2

oRER W W@ | 211 | 814 | 475

AT 1 T T TER |
@)  3fE A afus w81 R wivma Ik i
) HHH FHTH AR T B WA TR R

Draw a bar chart of pass-percentage of students during 2005 to 2010
from the data given below : ‘
Year 2000 (2006 (2007 |2008 |2009 | 2010

Pass percentage | 80% |75% |90% |70% |95% |85%
2005 | 2010 T Tenfar @ 3ol 39 = Fi9ed 79 9o 5 &1 T €1 ™

HAlwg! H < T gRI eI I ;
Y 2005 |2006 | 2007 |2008 |2009 | 2010
F] Wiae 80% |75% |90% |70% |95% |85%

SECTION-D / @us-g

Question numbers 25 to 34 carry four marks each.

TF T e km ¥ T 25 . @i 3 9% 9 g0 F g W km 12
%, frtan ot #1 afg gt x km 2R FRTR0 v &, @), @ x 3Ry § dafm
s gt fafay | s wifey ofR 2o | 6 ko 1 3341 &1
ot 3 =hifsa

A taxi charges Rs. 25 for the first km and Rs. 12 per km for
subsequent distances covered. Taking the distance covered as x km
and total fare as y, write the linear equation depicting the relation in
x and y. Draw the graph. From the graph find the taxi charges for
covering 6 km.



26

27

28

29

% Yfae 1 g T 23R ©F 19 @ qed T 15 %1 afg vien 5 100% 9 e
One Pencil costs ¥ 2 and one pen costs ¥15. If Sheela pays Y100 to
purchase pencils and pens, write a linear equation for it and draw
graph.

UF 5 em o a9 99 7 & <flad AB sitAC s wFR € %
AB=AC=6cm&! &1 BC &I &arg Jd Hifeig |

In a circle of radius 5 cim, AB and AC are two chords such that
AB=AC=6 cm. Find the length of the chord BC,

smpfa #, af§ AABC ! 451 BCH AD, a: b ¥ sfea & @ ar(ABD):

ar (ABC) FId ®If9Q |
A
?;-Upg a D p C

In the figure, in AABC, if AD divides BCin the rafio a : b, then find
ar(ABD) : ar (ABC).
A

2 t@mEvs Ac &1 BD tF g ® 0 | wwfpwfia w1 §1 fag i &
ABCD W& Wi =ga &1

Two segments AC and BD bisect each other at O. Prove that ABCD is a
parallelogram.
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feu e faa 8, gu s F2 0% fag Ffu for o+ yo=20%

In the given figure, O is the centre of a circle. Prove that
PryP=z"
E

O IR T AT EE fraat v 204 m 3R el 106 m # € 1 WR

TR wpil & sfea ¥ ol sl @ o = 2 F i e ¥y dFrow 32 ovwd v

R H% gien w1 fok s @ oww sud e i owa ved € e e d

s feem s S ARy R W R T R

Prafefes wwf & e d -

()  STERRER B9 = frem dewa &7

@ AR Gq P 9R gue Syemr arl § $@ afa W g ® ek
TR WM T EHEA I AN 2

@) Y iR wEd A 32 & il Ay wieg

A man divides his rectangular plot of length 204 m and width 106 m into four

equal triangular plots and gives each triangular plot to his four sons. The

third son decides to build a Health Centre on his plot but falls short of

money, The youngest one sells his plot and gives him the money.

Answer the following questions :

(i) What is the area of the rectangular plot ?

(id) How could the rectangular plot be divided into equal triangular plots
and what is the area of each plot ?

(iii)  What value of the third son and the youngest son can be seen here ?



32

33

34

ST ¥ UE TS W IR 7 cm S 9 S e gy fom
ST ¥ 1 AR 5 om I 7 g WA W §, T 300 w3 fe e
e qY Ft STravEHd W ? (= 372— wifem 1)

A patient in a hospital is given milk daily in a cylindrical glass of
diameter 7 cm. If the glass is filled with milk to a height of 5 cm,

how much milk is required in litres for 300 patients ? (Use w= %7—2 3

T TIY & GBI SRS 758 cm2¥ | THEHT des iR SSE waen: 14
cm sk
11 em &1 39 S5 3R smam 9w S

The surface area of a cuboid is 758 cmi?. Its length and breadth are
14 cm and 11 cm respectively. Find its height and volume.

For the following data, draw a histogram.

Age (in years) : 0-6 | 6-12 [ 12—18 | 18—24 | 24-30 [ 30-36

Number of | 8 12 15 18 12 4
SONs ©

= JFS ¥ foe oF sraares T

g (= H) 0-6 | 6-12 | 12-18 | 18-24 | 24-30 | 30-36

gt = gen 8 12 15 18 12 4
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